LB 3: Wendepunkte - Lésungen

1) f(x)=x>-3x*+x-1
> f(x)=3x*-6x+1 > f(X)=6x-6 > Xy, =1
> F(x)=6=0 > f()=-2 > W& -2)

2) () = —2x° + 3x® —dx+5
> F()=-2+x-% > () =—4x+1> xy =1
> '(x)=-4%0 > f(2)=0771 > W(Z; 0779

3) f(x)=2x*-3x®-4x* +5x-6
> f(x)=8x>-9x* -8x+5 > f'(x)=24x" -18x -8 > Xy, ~1063 Xy, ~—0313
> f"(x)=48x-18
> £'(1063)~33=0 > f(1063)~-6,255 > W,(1063 —6,255)
> £'(-0313)~ 3320 > f(-0313)~-7,845 > W,(-0313 —7,845)

4) f(x)=-3x*—x>+1x*+1x
> f(x)=-3x*-3x*+x+1 > f'(X)=-9x* —=6x+1> Xy, = -0805 X, ~0138
> f'(x)=-18x-6
> £'(-0805)~85=0 > f(-0805)~ 0,262 > W,(-0,805 0,262)
> (0138)~ -850 > f(0138)~0,053 > W,(0138 0,053)
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